5 [X(3.0km)

No. |llEAr |Fogk  [[E=T4 F—2L
71 1 9.29|{ & BEAT [P

37| 2 9.41|7% B& P

31| 3 9.54| 4+ FAR [
30| 4 9.58|2 8 BEA [ ILF
29| 5 100485 3} PKE

39| 6 10.06|70)11 5k |Er

321 7 10.10)#7= EfE [ 1R

43| 8 1014145 B [E&

94| 8 10.14 ()11 %7 WEBE  |FEse

56 | 10 | 10.15|004f S =V N
721 10 | 10.15|=4A MAsk T

20 | 12 | 10.24|E@E RN |fafER
26 | 13 | 10.25 iR S|
28 | 13 | 10.25|(FfE SelE ()il
47| 15 | 10.26|luF AEAN  [VEkEE
50 | 15 | 10.26{#7 fERK | =K

89 | 17 | 10.28| A% KFH |

95 | 18 | 10.32|M ™ HEX [FEZEdd
62 | 19 | 10.35|Bm) ) =B

16 | 20 | 10.44f/0Np8 2% ANU/NES
38| 21 | 10.47(fH KFn |i&

19 22 | 11.04)fFIL FHh |

11| 23 | 11054 = LiiF

14| 24 | 11.06|dkiT &) B 2 1
54 | 24 | 11.06[/NSEH ZK ks i
12| 26 | 11140 oM (K

78 27 | 1L18[E R YR R

18| 28 | 11.21|@E K |THE
55| 29 | 11.22|EiE MiE |[BHAE
451 30 | 1124\ FfE KHE|PEIR

34| 31 | 11.30|f&H f@ KES|iEoE
81 | 32 | 1147|HLE it

35| 33 | 1L.51|FFRE K |5

33| 34 | 11.53|F5FH &% |FRrE
75| 35 | 12.07| FiL 3 Bl S

77| 36 | 12.15|BUFF IHEE  [hnvE

13| 37 | 12.21|{HFE £FE |4

53| 38 | 13.30| K% 7 15




